Honors Algebra 2 with Trig
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1. Graph the following: Jf?\ w1
Q. fxX)=x*+4x—-4 b. g(x)=Y2(x+3)*+5
= ;——%-67 -2 S-D=4-g-4 vertex  (-3,)
- "8 y-\ﬁ* (O = ‘33
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2. Graph the following by writing the equation in vertex form. |dentify
the vertex and axis of symmetry.
a fG)=x*+2x-5 b. gx)=2x2+x-6

) -5 a00 = 2(x* » 4x

C. h(x)=—3x2+12x—8
W = ~30E-Hx ) -9

~3(F-ux +1) -8 *12
-3 (x-2) %4y

2 (x¥iax ) -G

= (x% yaxe 1) -6 -1 20+ Lxa )t -

= 2
(x + \} - - 7-(% _,_y‘hz _ L\‘!/% vertex (z,4)
\ Y =
veckex (-1, - () vertex (~Vd, =4%4) fob x=e
AQS Y= -\

AoS x = -'lhl
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Honors Algebra 2 with Trig

3. Divide the following using long division

2 12x3-11x2-+9x+18
2® -5%X +(p ax+3
HX*3 292 (1x? aqx + 1@
- ( |2x> +Qx2)
T
~2ox +9x 12x3- N HAxeis | o )
- (- 20x* -15%) T A3 = |3X° —sXxl l
2U% +1\@
- 2UX +1%
O
4, Perform the following division using synthetic division:
o. “ElEcLell b. @23+42-5)+(x+3)
3|4 -15 1t =1 312 4 6 -s
iz -9 G L b -\&
A2 2 -4 2 -2 L -23
| ux? oM 25

S. Let f(x) =—3x* + 15x2 - 50x + 25. Use the remainder theorem to find f(4).
4l=-3 © 'S -850 25 ;
\ -2 -4k -132 -772 £ = —7037

-3 -2 =32 - 182 -702

—

6. Determine whether the given number k is a zero of f(x).
a. fx)=2x3-3x2-18; k=2

?-\'z. -3 O -13 ..
, N 2 Y JEO not o 20
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b. f(x) =x*—4x3 —14x2 +36x +45; k=-13

3y -4 Y 3L 4s

3 -3 -5 -HS ‘gcb] the-2 \> & ro
\ -\ - -5 (o) =

C. f)=x*-x3+6x2+14x-20; k=1+3i

3+a:2 |+ 3L ) o=l G W =20 (=30 (269
\ N \z
. . le3L -90 -12-Lv 20 CIRA NI
(~3+43)(1+3) 2

-3 43 - a0 + Ll - R A A

=12 =L\ ‘%@l\*&‘\. S O 220

7. Determine whether x+4 is a factor of f(x) = x> + 6x* + 11x3 + 12x2 + 5x - 20.
-4 1) v w2 858 -20
-4 -% -2 O -20
' 2 32 6 5 _uo
\—;o_] xatdl Not o fador

e

8. Factor f(x) = 6x3 - 37x2 + 32x + 15 into linear factors given that Sis a

Zero.,
gl L ~27 52 1S
0 35 - s
b =7 -3 O

£10 = (x-S Lbx =% -3)

| . (x-9) (3% + 1y (2x - 3) |

zerost X=85,-Y3 ¥
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9. Consider the polynomial function.
f(x) = 8x* — 26x3 - 27x% + 11x + 4
a. List all possible rational zeros.

t] +t7 +
CUEL MR s kY, tu it T2 ny

$) t2 th L8 ’ ! ' o
& dried £0) a0 t\,t2, tH, t8
% -
bon e b. Find all the complex zeros and factor f(x) into linear factors.
\cu-%g as  Feried
wa oo Bus 1] ® =26 -27 w4 4| e =34 7 4
2t edd reduce -% 34 -9 -y 32 -% -y
\or coePhewns
K g -3y 9 4 o 2 -2 -\ ov”

£ = Lx«-b(ﬁxa—sl-lxz-\» 7x+l.|>
cand  fachr by grouping > synthehe dw again

A need \cuar. po> ® h
£z (D=L 5 =2% - 1) ceduce -2y w/ x> eem
L) '\‘\‘ld ")
T (x+D)(x-) (Bx + Dlax =)
. 08 Y=o\ O by )
10. Consider the polynomial function. Beo3 L x= -1, 4, - W ,

f(x) = 15x% + x3 — 52x2 + 20x + 16
a. List all possible rational zeros.

T, b2, tu, £y, VW

\ PR * 1, LT
= 1)t /3,1/5,'/‘5, 2,t %, 1

tys, Y, T, s 1 Yy,

b. Find all the complex zeros and factor f(x) into linear factors. T &, * 3)3,*-3/5’

Ty, £3,£5,%\5

¥g e, thy
118 | -82 206 1 B TR TR T TS /

-t“'/s t‘bhs
1S Wb =26 =\ =36 -28 6

'S W6 -3k -\ oY

15 -0 - O
£0d= (x-1) (15X 4% ®-26x -10)
cont focdr by groupIig HSyn. dw, agpon
= Lx-ﬁ(xar?)( lsxz -4 x -%)
= (x-D(x+D (3><-‘-\\(5X*73 2erost ¥ =\, -2, %8, /5
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1. Find a polynomial function f(x) of degree 3 with real coefficients that
sotisfies the given conditions.

a. Zerosof -3,-2, and 5; f(-1)=6
£O0 = a(xx3) (x+2) (% =5)

b= o(-1+3) 1+ (- S)

£00= = + (x¥ 2) (X *rD)(X-3)

= ---‘2-_- (xz.x.g,x -\-@(x—ﬁ}

2, -
= -l2a Y
- ‘z:o. 1 -25 % -30>
=5—J2—_7<3+ .l-;-x +|SI
b. 4 is a zero of multiplicity 3; f(2) =— 24 L
£6I = o (x-)® S8 = Bl -y
3
- - 2~
-24 ='%0s - 3()(3-%)‘2'\'“"‘ _‘_\xz _‘,azx_b)_b
2 =0 =

=]3x3- 3 %% + 144 X -‘qzw

12. Find a polynomial function f(x) of least degree having only real
coefficients and zeros -4 and 3-i. 2+(

£ 2 (xxD(x - 3-Y(x - (2+ )
(x +D[(x-3)* —Lz]

+40
wr D) xT - r +9Q +1i — ~
Cxeed) D ]: x3.2%x% - WX +t-ic;]

= x2- X2 rlox #H x E-2ux

= () (X2 -l +10)

13. Determine the different possibilities for the numbers of positive,
negative, and nonreal complex zeros of f(x) =—2x* +3x3 —5x2 +4x - 1.

® N N O
FEN = =254 3x® - 5xF yx-| A eeros H U"\O'gf—ﬁ
Do c,ha.ﬂgcb

‘-ipo:
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